21. (a) Unique solution: « is any real number;
x=14-2a,y=4a—-15,z=9-2a

Infinitely many solutions: a = 3;

X% -7 2
v =17 [+A] -5
z 0 1
SEQUENCES AND SERIES
1. (a) -86 (by 660
2. (a) 6.5 (b) 33rd term
(c) 24ordl
3. -0.609
4, 128 or 384
5 a=8,i"=g
2
6. (a) a~%,r:4
(b) 9th term (c) 10
7. (a) 3,7 (b) 54
8. (a) $32619 (b) $1511552
(c) 13th year (d) 27
9. (a) $185 (¢) 56
10. (@) 1.77147m
(b) 1lth (c) 57m
11. (b) k=25 (c) 28 years
TRIGONOMETRY
1. a=3.b=2
2
) : i
.f(X)e[7,3]
5, 20
4
10. —\/E
6
11. —ﬂ
4
12.

Answers

(b) Unique solution: a#3;x=-7,y=17,z=0.
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0=-1.89, -0.464, 1.25, 2.68
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R=2,0= E; minimum value 2
6 5

R= m, o = 0.540, maximum point (0.540, m)
6.75cm

23.2

21.2m

VECTORS

(a) m:%(cfa) (b) QT’:—;:(C—a)

-16

(@ | -8 (b) 46 =9.80

(a) | 6 (b) —| 6

(@) r=|1|+A|2
2 5

(b)y (-3,5,12)

The lines do not intersect (they are skew).

x+5y—-2z=5

2x—13y—-5z=-25

(a) (0,5,13) (b) 15x+6y+z=43
4 0

r=[—-4(+Al1
0 1



